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Problema 1.
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Problema 2.
N L N —u, = N +a,L,AT
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a AT =0, N=-P, u,=-01mm = P=—"4_-106kN
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b) 6, =-P/4, =-135 MPa, o ,=-P/4, =-33,7 MPa
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Problema 3.
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A maxima tenséo cisalhante no eixo de ago é:

max {r,(r)|}=7,(D,/2) = 2Pr oL K Dip g5 1007
27, 4K, +K, J,
110 x 10 °
max <110 x10°Pa = T <=/ "= _-—14,8kNm
(Al * N WTINETE

A méaxima tensao cisalhante no revestimento de aluminio é:

max {r,(r)}=7,(D,/2)= 222 -1 Ko Doy _ 477 510°r
2J, AK,+K, J,
6
max ﬂrz(r)|}< 70 x10°Pa = T, < 7O><—103:14,7kN m
4,77 x 10

T, =14, 7KN m
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